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Draw the graph of the following irrational function. Find the domain and range.
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Find the coordinates of the common point between the graph of
the following function and the straight line.
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Draw the graph of the following irrational function. Find the domain and range.

T & & A

X-L.M

nwnEn

il i

HAEND

[

O y=+v2«

**********************************

R x=0
Domain

b x

1 32, y =0
Range

|
SN I I R N -
TLnEL
EEH x=0
Domain
+ L\g‘
== y =0
Range
@ y=+v—4x
,,,,,,,,,,,,,,,,,,, ot
——————————————————— 1
I >
SR N N o I S

E%ﬁ x =0
Domain

H o

1 32, y=0
Range

7777777777777777777777777777777

THE

R x=2
Domain

B &

== y =0

Range

2.

) Hrl A

%to@of/u ESROP Y]

/k@l%sﬁﬁ@ﬁ77}: H o L HE O REE %;k&bot

Find the coordinates of the common point between the graph of
the following function and the straight line.
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5k o X, the following function and the straight line.
Draw the graph of the following irrational function. Find the domain and range. PR P,
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